
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 624

54 km = 54000000 mm

92 dam = 9200 dm

70 m = 700 dm

55 m = 550 dm

67 km = 67000000 mm

72 km = 72000000 mm

81 km = 81000000 mm

6 hm = 6000 dm

56 hm = 5600000 mm

33 m = 33000 mm

960000 dm = 9600 dam

70000 mm = 7 dam

8000000 dm = 800 km

18000000 cm = 180 km

4000000 cm = 40 km

320000 mm = 32 dam

58000000 dm = 5800 km

960000 mm = 96 dam

970000 cm = 970 dam

8900000 m = 89000 hm

50 hm  et 97 dm = 50097 dm

80 dam  et 3 cm = 80003 cm

1 m  et 57 mm = 1057 mm

98 km  et 30 dm = 980030 dm

65 hm  et 1 mm = 6500001 mm

93 hm  et 53 cm = 930053 cm

36 dam  et 88 dm = 3688 dm

20 m  et 82 mm = 20082 mm

99 dam  et 18 mm = 990018 mm

60 dam  et 6 cm = 60006 cm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :
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